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&5 R 4 .z,na; -Flﬂ’ﬁfJ(:)o)ﬂErﬁﬁ jj(g')\lj/kn%é X 4 -Flﬁ’ﬁgé%z(orzikq: 'Z]n? jj(g')\;tnié X 4 .(Er,s J:m;ﬁ(:)(btb.a jj(ﬁitnié X 4 Llﬁﬁf)(z)@ttﬁ .(ES t(gifn?)é
9 100kN/m%#8 2% 1.00/ 000 ~ 1.23 118.59|3m% Bz 35| - ~ - - -| 100kN/M%# 2% 1.00| 1058 ~ 14.40 118.59|3m%# x5 -~ - - -
ZThES 1001123 ~ 901 100.00] #hList [0.00 ~ 9.01| 224 11.99 Zh s 1.00] 500 ~ 1058 100.00] Zh st | 500 ~ 14.40| 2.24 11.99
4 100kN/mM#%# 8% % 1.00/ 000 ~ 1.16 117.51|3mZE#ZB| - ~ - - —| 100kN/M%#8 2% 1.00| 10.72 ~ 14.28 11751|3m%i#BZ% -~ - - -
ZTh LS 1.00/1.16 ~ 895 100.00] #hList [ 000 ~ 895 2.29 12.25 Zh LS 1.00] 500 ~ 10.72 100.00f Zh it | 500 ~ 14.28] 229 12.25
8 100kN/ Mm% %2 % -1 -~ - -|3mEBZS| - ~ - - -| 100kN/ %2 % - -~ - -[3mEEZS -~ - - -
ZhLS -1 -~ - -| =it -~ - - - Zh LS - -~ - -| Zhiist -~ - - -
9 100kN/mM#%#BZ % 1.00/ 000 ~ 1.91 129.50|3m#%E#ZB| - ~ - - —| 100kN/M%#8 2% 1.00| 10.74 ~ 1755 129.50(3m%i#B% % -~ - - -
ZThLS 1.00/ 191 ~ 970 100.00] #hList 000 ~ 9.70] 2.29 12.27 Zh s 1.00] 500 ~ 10.74 100.00f #h it | 500 ~ 17.55| 229 12.27
10 100kN/mM#%# 8% % 1.00/ 000 ~ 133 120.24|3m%E#ZB| - ~ - - —| 100kN/M%#8 2% 1.00| 1056 ~ 15.00 120.24|3m%#BZ % -~ - - -
ZTh LS 1.001.33 ~ 9.12 100.00] #hLlst [000 ~ 9.12| 2.15 11.50 Zh s 1.00] 500 ~ 1056 100.00| #hlust | 500 ~ 15.00| 2.15 11.50
» 100kN/mM#%# 8% % -1 -~ - -|3mZzBz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS -1 -~ - -| =it -~ - - - Zh LS - -~ - -| Zhiist -~ - - -
12 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
Zh LS -l -~ - -| #hist -~ - - - Zh LS - -~ - -| Fhiist -~ - - -
13 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
Zh LS -l -~ - -| #hist -~ - - - Zh LS - -~ - -| Fhiist -~ - - -
14 100kN/mM##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
Zh LS -l -~ - -| =hist -~ - - - Zh LS - -~ - -| Fhiist -~ - - -
15 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
Zh LS -l -~ - -| #hist -~ - - - Zh LS - -~ - -| Fhiist -~ - - -
16 100kN/m##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
Zh LS -l -~ - -| #hist -~ - - - Zh LS - -~ - -| Fhiist -~ - - -
17 100kN/mM%#EZ % 1.00{0.00 ~ 1.16 117.52|3m%EHB %% -~ - - —| 100kN/ %8z 5 1.00| 10.72 ~ 14.28 117.52|3m%E#B %% -~ - - -
Zhn Lot 1.00]1.16 ~ 8.95 100.00] Zh1List |0.00 ~ 895| 2.29 12.25 Zzh st 1.00f 500 ~ 10.72 100.00| Zh it | 500 ~ 14.28] 229 12.25
18 100kN/mM##B 2% 1.00{ 0.00 ~ 1.33 120.24|3m%EHEZ 5 -~ - - -] 100kN/ Mm%z % 1.00{ 10.56 ~ 15.00 120.24|3m%#B 25 -~ - - -
Zhn Lot 1.00]1.33 ~ 9.12 100.00] Z1ldst |0.00 ~ 912 2.15 11.50 Zzh st 1.00] 500 ~ 10.56 100.00| £h it | 5.00 ~ 15.00| 2.15 11.50
19 100kN/mM%#EZ % - -~ - -|3mEEZD -~ - - -| 100kN/ %8z 5 - -~ - -|3mZEiEZ S -~ - - -
Zhn Lot 1.00] 0.00 ~ 443 55.28| ZnList | 000 ~ 443] 2.38 12.74 Zh Lot 1.00f 500 ~ 8.50 55.28| #nLis | 500 ~ 850 2.38 12.74
20 100kN/mM%#E% % - -~ - -|3mEEZD -~ - - -| 100kN/ %8z 5 - -~ - -|3mZEiEZ 5 -~ - - -
LS 1.00/ 000 ~ 7.74 99.38] #hList | 000 ~ 7.74] 2.36 12.62 Zh s 1.00] 500 ~ 10.95 99.38| #hbList | 500 ~ 1095 2.36 12.62
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R ke BTV e | B2 | e | | | B2 e T e | B2 T e | & | T
91 100kN/mM##BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/MiZE#BZ 5 - -~ - -|3m#FB2 3 -~ - - -
ZThES 1.00/ 000 ~ 3.83 4811 Zhklst 000 ~ 383] 217 11.61 Zh s 1.00] 500 ~ 529 4811 #hbist | 500 ~ 529 217 11.61
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM%Z#B 2 % ~ ImEEZD ~
ZTh LS ~ ZHLUS ~ Zh LS ~ LS ~
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZhLS ~ ZHLUS ~ Zh LS ~ LS ~
100kN/mM#%#BZ % ~ ImERBZ D ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZThLS ~ ZHLUS ~ Zh LS ~ LS ~
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM%Z#B 2 % ~ ImEEZD ~
ZTh LS ~ ZHLUS ~ Zh LS ~ LS ~
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZhLS ~ ZHLUS ~ Zh LS ~ LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
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